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Topic:- Physics

1) A car travelled 50 m in 30s along a horizontal road. It reached the destination with a velocity
4 times of its initial velocity. During the process, what happens to the potential energy of the
car? /

Teh R {asT Gseh 1R 30 Yah 57 50 Hiex &l a7 T el 81 I 9107 7id I UM TR Rf3eh amr
FARTN AN H AT T I 81 39 [ a1 h ERA SR 1 fIast Jorr 1381 ghfi?

1. Riyer  fAdst o &t g gt wit gt
2. Became 2 times of initial poteﬁﬂ%ergy }ﬁ IR AT gl it gt

3. Became 4 times of initial PE /Ri%eh  PEI 3fTs 7T gt it gt

* Became 8 times/ O WG PET < € ENE

coRidigisharee

. [ g 3faa T8t o g ghh

2) A black body is at a temperature of 727°C. It emits energy at a rate which is proportional to:

/
Qeh I T AT <hTe [2:7TehTd ST ATUHTH

3TfaTah 8:

,_ (1000)

727°C €1 Tg Teh &R @ Fotl 3If ST ol & S 39k

2.3
5, (1000)

4.4

C0|(r7e2c?c)&nswer -
. (10004

3) Which of the following is not a characteristic of a musical sound? /
fAfd @a v @ & a1 e g 9 (Aeed aks) &1 o o 78t <82

1, fger

2. Quality [/ Setdl

Loudness



3. [aT
4. WenkeJelBEth

Correct Answer :-

. AT

4) Which of the following does not have unit as Joule? /
fAfd a7 @ f:wadt gars S Teie 5

1, [ g

2. Work /del

3. Force | Frast S

4. Newdticerergy

Correct Answer :-

5) Which among the following does not possess kinetic energy? /
fAfaaan 4 fraay Maw Fom 71 g &2
1 [SREHT AR B SYH TS

2. A batkehyoReepiards
3 A moving car / Yehderd! § R

4,
A lying bird /Th3sdT ST al
Correct Answer :-
. /Tep St
R W o 7 11 1) 7/

6) A train moving with a velocity of 30 km/h has a kinetic energy of 52000 ]. When the velocity
of train is increased to 60 km/h, the work done is: /

30 forfi/eer ham Saemareiie ¢ T &Y fasrsen , 52000 SIeT 81 S1e & = &l T T¢I 60
forefi/eier e e Siran §, at v M arg &

1 I F2eman T s
2. Work done = 0 Sfet =0
3. 156000 / 156000 ST

% 1040007 / 10406

CorallRrls2? 200



7) Abody of mass 2 kg undergoes a change of velocity of 5 m/s in 5s. The force acting on it is: /
2fhT AR S T :aaa®w 58. 7 5H1/3. T I YT T Ed1 &1 39 WR BT & T 91 g1

1.

2. 10N

3.1 N

4.2 N

Cor5rel\ét Answer :-

______ T e EETREET R

8) If the object is at rest, then the slope of position-time graph: /
Reagflwmm e @ Ra-wwa 1% o eam:

1. 3L BT &1

2. is zero /3], B EehdT &

3 paambeBerero /3L TG Gehdll 81

* always greater than zero /gl?rszrr 3L @ foteh gl &

Correct Answer :-

. /L gt 8l

9) If the velocity of an object is directly proportional to the time, then the object has: /

e Qeh g, o1 T, T & AT 8, df 9, A 2,
1. / 9 3ad g o

2. variable acceleration /Jeh¥HIT 0T

3 Uniform setelerpiwmaH AT

4.
uniform speed /YhHHTT =Tl

Correct Answer :-

___________________________________________________________________________________________________________________________________

10) Bats detect obstacles on their path by receiving the re lected . /

TGS URIfAd o Pl T Pch AUA AT H 37 dTelt TS < +ehTaaT I § |



1, /fraemd-g fra aan
2. eleessorinagaeds yFes(3 T TRI®) T

3. | Regias

4. infrasonicewavesyfd & TR aa

Correct Answer :-

. /O (31 € TRie) a3

11) What happens when a body is moving in a circular path with a constant speed? /

ATEIATRSTayfehTehrd f2RaaTelUehy SRUYUREGdT & ?

1. /38 WR B A Tl I L Bl STl B

2. Roteterating oibisgrorm / 30T UhHHH T8l 38T 8|

3 Velocity is uniform /ATIEHEH 6T 31

4,
Velocity is changing /379 fad & gl ST &1

Correct Answer :-

. /A7 g AT d 8 ST 8l

_________________________________________________________________________________________________________________________________

12) What happens when an object falls freely? /
Siaenisq, ad U9 FARA g 99 AT 8 ?
1. /RIS ol 96 STt gl

2. Hinetigsnexepgpnepssses / [AdoTSol §g Sdig |
3. et St , frast S @ u faa g St 81

* Potential energy ifeconxested RGN SHERETAT 21

Correct Answer :-

13) Agirl travels 6m towards east and then 8 m towards north. Her displacement is: /
YoheTgeh! HIGME hISTRIRTR 8 HY. I I Y 3R AT T el &1 IThT 7 U1 &:
./

2.7m 7.

3.10m/10 #.

4.14m 14

2m/ 2.



Correct Answer :-

. |

"""" 0 B

14) The Slunit of velocity is:

Fhr
sfs’aﬂgg:

1.
2. ft/s
3. m/s

4. km/h

Cogpé:l% Answer :-

D ¥ 135

15) The value of acceleration due to gravity is: /

T ThY UT o ShIRUT 30T ST HH:
1. same at equator and poles / _a 3R 97 @1 O A &l &
3, inastatequatopglel SREatar 7S RIF ovaT Y 3R JedT &

4, least at poles /_af <:UR A9 g1 &

Correct Answer :-

* least at equator / 3 T TR AdH &IdT &

16) The unit of sound intensity is: /

A arfizas e

1.
J/m2
2

W/m?2
3.

W/s
4./

I/s

Correct Answer :-

17) Which one of the following statements is TRUE about internal combustion engines? /



fAf T @a 7 9 ofid Ik < §oH1 (:oh faug 7 R AT U hIT T g2

1. 4-Stroke engines are less efficient but generate more power than 2-stroke engines. / 4- Th

§9, 2 <1k SOHLE T H A & AYUT Eld § foend faleh 1 AT I UG A B |

2. 4-Stroke engines are less fuel efficient and generate less power than 2-stroke engines. / 4- T E5H , 2-

Teh §ST1 RHgET 7 A T o1 I Tad hed § SR A S G aTg0T g1 g |

3. 4- Stroke engmes are more efficient and generate more power than 2-stroke engines. / 4- Teh §oT , 2-

f3ferehe ATqUT EldE SfR faTeher PR3 Teheds |

4. 4-Stroke engines are more fuel efficient but generate less power than 2-stroke engines. / 4- Teh §oT , 2-

TehgSTIchIgeTH fatehsere daTquT glag e AT IS TGThAE |

Correct Answer :-

* 4-Stroke engines are more fuel efficient but generate less power than 2-stroke engines. / 4- Te 3o,

2- Toh &5 iRl g 7 fofueh Suq g ATquT gla g R v I A I TEA A B |

18) A bag of wheat is weighed at a place near the equator and the same is taken to Antarc ca. The
weight of the bag will be ./

N & op It Bl YF @1 S THIU Toh TF IR AT SITa & SfR IY SicTenf eant of ST SiraT 2|
et T ao g

1. same at both the places / &l © UM :0R FA
2. less at Antarcca/ 3iCTehf TR A HH

3. more at Antarc ca / 3icTehf el A faferan
4. zero at Antarctica / iCTeRl &ehT 7 [

Correct Answer :-

« more at Antarc ca / 3icTehf cerT A fafeueh

19) An electric train is moving with a speed of 180 km/h. How much distance will it cover in 1 minute? /
T AT g0 Rl 1 ¥ R @ 9 @t 31 98 1 Rwee w Rvopart) gt

1.180m /180 Ht

2.50m /50 Ht

3.300 m / 300 Ht

4.3 km /3 femeit

Correct Answer :-

20) Invacuum, a beach ball falls at the same rate as an apple because: /



Rara @, U i §fet Ud Ten Q9 & 7R il @R U I gt 8, i

1. in vacuum there is no gravity/ﬁﬁTaq I TEFETUT:lﬁ -:III:@T-IT%I

2. the fric onal force ac ng on both is the same / a4t R maﬁwwwwwaﬁm@

3. the accelera on due to gravity is same for both / ] TehS UT & @RUT 0TI <+ch {2:3Q T gl 8|

4. in vacuum the gravitational force acting on both is the same / RaT d & @4 <R AR &F aTelT T TehW 0T

o1 99 giaT 81

Correct Answer :-

« the accelera on due to gravity is same for both /[ TeY UT & SRUT 0T &I <3ch 223 IA BT 81

21) A train 300 m long moves with speed of 36 km/h. The time taken to cross a bridge of 0.7 km
is i

Uk 300 Hiex S} ISt 36 f2:epwl/Eier hl =el & Tl 81 39 )1 0.7 EzicaecaecralIn
AT T GHT AN
1. 100 s/ 100 Qchs

2.75s /75 Ohe
3.150 s/ 150 Qchg

4.50s/ 50 Achg

Correct Answer :-

« 100s/100 Tche

22) What should be the position of the object when a concave mirror is used as a shaving mirror? /
19 e 50 UT i RAET U T g A IwahT (St g at g, Sl 39 18 fRigy ?
1. Between the focus and the center of curvature / hihg iR dTdh &

2. Between the pole and the focus / ARBIRE o o

3. At the focus / BT TR

4. Beyond the center of curvature / 9 dich 3rmt

Correct Answer :-

* Between the pole and the focus / 3 3R Tishd & &t

23) What is the SI unit of current? /

TR ) gard 122

1. Coulomb/ GeAH



2. Ampere /8 W

3. Joule /S[cT

4. Volt /a

Correct Answer :-

« Ampere /8 W&

24) What is the dimensional formula of electric flux? /
dgga farqarg v fafla g 18

1. ML3T-3 A-1

2. ML2T2A-1

3. M-1 L-3T3Al1

4. M-11-2T-2 4

Correct Answer :-

o ML3T-3 A-1
25) Displacement-time graph for a body cannot be v
ufchaerrafehaia aTu=-a9g % _ Tgigkichdargl

1. parallel to displacement axis far ATOT3T hoHIR

2. parallel to the time axis ZATel3T HEHIMR

3. a curve with a negative slope FEUT el UgIqHha

4, . .-
a curve with a positive slope T helAIgdgehd

Correct Answer :-

« parallel to displacement axis fr &g 31 & gHIR

26) Two particles executing simple harmonic motions with the same period along the same line cross
each other at the mean position in opposite directions. Their phase difference is: /

WA ad g 2 a1 9 e 3@ &l oT, IHH @7 & A1 FAF Sad 0 o gER af famda
feemart «:w AT H U9 W FIed § | I hedicdR &

1.0

2.

3T
2

3.



(R

Correct Answer :-

27) If the depth of the water tank appears to be 10 m, then its actual depth would be: /
Resaecad g 109, fiq gt 8, at Iadhl arf ae Te<rs ghft:

1. 1330 m / 1330 #.

2.13.3m/13.39.

3.1.33m/ 1.330.

4 133m/ 1339,

Correct Answer :-

« 13.3m/13.39,

28) If 1 joule of work is done to move a charge of 1 coulomb from one point to another, then the
potential difference across those points is v

fre 1 ity arraer ot Uah fiag A g@R Fidg RATH T 1 g am aar srar & dt o7 aged & &
&l figaa afa” gl

1.1 hertz/ 183
2.1tesla/ 1 &get
3.1 ampere /1 YW

4. 1volt/1a

Correct Answer :-

« 1volt/1at

29) If earth were to shrink to one-fourth of its present radius, then the length of the day would be
v

g g7, ot ad 7= 2 13 gen-atenE aa dfgad g, at e dr sifdy gt

1. 3 hour / 3 "eT

— hour /
%

s

[ s



2 2
— hour / — H9cT
3 3

lhu::urfl‘EIT:’.'I'
3 3

Correct Answer :-

|
=gl
o
=]
L]
et
[N

30) Images formed by total internal reflection are much brighter than those formed by mirrors and
lenses because /

U SRA RIa+ ffasa &l gemn 7, guT 37id 3 WR1ad 4 R &+ [ fose faferes 3 aa gl
g, Iflia |
1. there is no loss in intensity / 3T Ft a1 T P 781 :gAT 8

2. they are diminished in size / TR A/ g G
3. they are always real / 3 geqg arf g G
4. they are always virtual / T geg a8

Correct Answer :-

« there is no loss in intensity &=l <t AT 7 P13 T 76 (8l &

31) The percentage errors in the measurement of mass and speed of a body are 3% and 4%,

respectively. The percentage error in the estimation of the kinetic energy of the body is v

Teh [ & A9 @ 911 o "1a9 |7 aerd {eaf, J2n 3% SR 4% g | 277y & frast o
% Sfher 7 fasa fe 2l

1. 12%

2. 7%

3.48%

4. 11%

Correct Answer :-

« 11%

32) The torque transmitted by an engine to maintain a rotor at a uniform angular speed of 100 rad /s
is 180 Nm. The power of the engine is v



Teh gUT & (eR) Al 100 Regm/@ hY Thad hivfig arel IR §-1¢ 7@ & 2397 99 1’7 91 3d
Zfe , 180 Nm g1 §519 &I |aT gl

| 1.8 W/18afk

, 18 W/ 183

3. 18000 kW / 18000 ferett afe

4,18 kW / 18 fopatt a@ie

Correct Answer :-

« 18 kW / 18 fhalt ale

33) There is a frill of 40 bulbs connected in series. When one bulb gets fused, the remaining 39 bulbs
are joined in series and connected to same supply. Will the illumination decrease or increase in room?

/

Ueh SR A 40 I Uk @1 H I3 Ug I S Ych d G gt ST 8, At AW 399 &, @l |
GRS gld § SR YA &l Sfyd VS & | PR h HINHA HAT grT AT g ?
1. No change in illumination / hITH IS U Iad T 8! J:ghm

2. Decrease only / thaet &HT
3. Increase only / Shad g

4. May increase or decrease / g T Y g gapdt &

Correct Answer :-

« Increase only /ehael §

34) In a long distance race, an athlete took five rounds of the track of length 200 m. If the star ng
and finishing line were the same, then what would be the total distance covered by the athlete? /

et g Y e 7, Toh QUelie = 200 #Y & off g ATt Ueh & o oh Ui the @Y | R SmRivyeR e
sifaw 3Ed A= off, dt guefie RT g & TR Ha g 18R

1.0m/0 ot
2.200 m /200 #t
3.40m/ 40

4.1000 m/ 1000 =t

Correct Answer :-

« 1000 m/ 1000 #t

35) Anywhere in the universe for a given body, remains constant. /

feelt oft Hisge e & flxeig Te @ gl ooft R EAT 8|



1. weight / 9T

2. [ STaa
3. volume/ 9
4. density T

Correct Answer :-

36) A ball is thrown up with a velocity of 15 ms-1 from the top of a building of height 20m from
the ground level. The time taken by the ball to reach the ground is (take g = 10 ms-2): /

Teh 7T & @t 15 ms-1 & 377 & 3 aa & 20m it $ARA o 239/ & SR &Y 3R & 1ol g
Y e o'Tm & freg afe R—7 e o a9 € (g = 10 ms-2 & fofter):

1.35s
2.60s
3.45s

4,40s

Correct Answer :-

e« 40s

37) A balloon is rising with a velocity of 10 m/s. When it is at a height of 40 m above the earth, a packet is
dropped from it. By what time it will take to reach the ground? /

Teh T IRT 10 HY/& & T o 1Y 36 38T 81 519 I8 1 ¥ 40 Hiex Y Sa78 TR g1 8, af 399 Uah Uehe TR
ST €1 Oehe ohl ST deh O 9= | f2iehdHT 7 @vm?

1.10s/ 109
2.5s/5Th S
3.4s/43% g

4.25/2TF S

Correct Answer :-

e 45/4T% S

38) The gravitational force between the earth and a body is equal to the i
g7 iR ga f:Adr & d 7 T 9 oh SRIeR gidT &1

1. | fsepma & gt

2. weight of the bod&rﬁ:ﬁ;ﬁh—l—cr & A

mass of the body



3, | e R e
4. BERSRHYISE oRetBedyod Rt o

Correct Answer :-

. / fepra & ao

""" weightofthebody —------7--777-7mmmmmmmm oo
39) The inner surface of a polished metal spoon behaves as a i
U fUiTesr arg T 9 Y 31id 3k Tdg Uk &Y dE h ht Bl

1. concave mirror / 3Tdddl g4 U7
2. convex lens /3 dd o
3. convex mirror / 3 ddl 0 U7

4. plane mirror / §Hde g0 U7

Correct Answer :-

o concave mirror BTdde U Uf

40) The minute hand of a clock is 3.5 cm long. The distance covered and displacement by its tip
from 6 A.M. to 6.30 A.M. will be respectively: /

TH U d A e A gE 35qdatel & .6 Y Td . .30 Fof dch 3UhI Alh RT T hI T8
& iR flzg o A2 g

1. 1lem, 0 cm / 1 19, 0 9t
2. 1lem,7 cm / 1 [+, 7 S+
3.7 cm, 11cm / 7384, 119+
4. 7cm, 0 cm / 78T, 0 It

Correct Answer :-

o llem,7 cm /1 19+t,7 9+t

41) The SI unit of pressure is: /

T A Sl &

Nm
Nm2

3.

-2
4, Nm

Co}\llerrclt Answer :-



______ .N__m'___________________________________________________________________________________________________________________________

42) To obtain the SI unit of gravitational constant, which one of the following equations can be
used: /

T oRiw &

STT TehdT &

SIgahts aht T ot & ey, 9t e @d gfteron o @ g o1 Iuah e

G= m
2.
21 m2/ Fd

3.
G= Fd2/ m1 m

4.2

CogedARSVER 2 /

*FGF/ m m
G=Fd2/ m1 m2

43) If electron, a particle, proton and neutron have the same kinetic energy, then the particle which has the
shortest wavelength is: /

g g ™, a &1, e[ ud g 19 H fras S a9 g1 at a8 ot 5T ae. 98 oE
g, Bl

1. Neutron / g =
2. a Particle / a U1
3. Proton / Taiq

4. Electron /8 9

Correct Answer :-

« 0 Particle / cerur

44) If a ball thrown vertically upwards reached a height of 80 m and came back to the thrower
in 8 s, then which of the following statement is true? /

% Teh Tl I a7 R T Y JHUR Y 3R % I 1T & ot 98 80 Hiex il FATE dh U 91 & dI,
g O e dTct & UTH 8 Yok S H ATUY 3T STl 8, 39 &9 H A I i 9T hY 9 Tg?

1. The net displacement of the ball is zero / T& T ] fing qYH, [ ?{I

2. The distance travelled is 0 m / H’J@UTS:@, 0 IﬁR%I

3. The net displacement is 160 m / g fixg umua 160

#Hex 81 4. The distance travelled is 60 m / a & 7§ &t

60 MR gl

Correct Answer :-



. JTg et g fa oo, g 8l

__________________________________________________________________________________________________________________________

45) 200g of ethyl alcohol at 28°C is heated and boiled off completely. The quantity of heat
used up in this process is:

(take B.P. = 78°C; Specific Heat =2.5 kJ kg-1 K-1; L.H. of Evaporation = 850 kJ kg-1) /

28°C R 375 T 18Tdl 200 To @ qur udq ud fuq g man sg P am g
STHRATTE:

i = 78°C; flasr &1
( =25kl kg LKLATRT ST =850kl kg )

125 kJ
5. 195 kJ
3.170 kJ

4.19.5 kJ

Correct Answer :-

« 195 kJ

46) Which lens acts as a magnifying glass? /
P G A G ITY & of T i d<g DA HdT 87

1. Convex / Sdd

2. Concave—Convex /Tddel—3 del
3. Concave /STddel

4, Convex—Concave /3 del—3Tddel

Correct Answer :-

* Convex/ Sdd

47) Which one of the following statements is FALSE about Thermos flask? /
AfaEdT SR AT RITIA G T HIRH 3 § ?

1. Using rubber/cork as stopper prevents convection with outside air. / TR/ehieh et JTER I gar
fgd dag ol At & 17T Tah BT Y aRg T L awar STram 1

2. Heat loss/gain by the contents of the flask is minimized by almost completely filling it. / T

& AEF i RIS AT A/, S99 O ReR g [3Rar ST gl

3. The body of the flask is made of double-walled glass to prevent conduction./ T CIEICE
YT ht Aepd o e 1 g ™ 3 o+t gt &1



4. The space between the two walls of the flask is evacuated to prevent radiation. / T Hral

SRy «iah g &Y s, AT o6t Aea & e @rett i STt @1

Correct Answer :-

« The space between the two walls of the flask is evacuated to prevent radiation. / T Hal

&R <k g B o, 1 Raor &Y A & 1 @ret) i s 21

48) Which of the following is an example of non-ohmic device at lower temperature? /

g @ag @& T aoEE R sE-3id) (A1 f3itges) :sarsy &1 T Iereog ?
1. Junction diode & 9 sAs

2. Copper wire [dieeRT IR

3. Tungsten wire /&7 Al dR

4, Carbon resistor 2T 7 { a3teen

Correct Answer :-

« Junction diode & 7 SRE

49) A ray of light passes from air to glass (u= 1.5) at an angle of incidence 300. The angle of
refraction is ./

ShIRThT Teh f2repeor » 30° % e o R gaT @ @i (u=1.5) 7 gl ToRd! &1 37Uad 7 il
___ Bl

1.
12.230
2.
10.510
8(')rrect Answer :-
19Wia70
P 5 T

50) If the focal lengths of the objective and eyepiece of a telescope are 1.5 m and 5 cm
respectively, then its magnifying power in normal adjustment is: /

e Tep gl & fa & 3R 1t o1 Y thiepddiaReoT A 1.5deR 3R 59 g, at ST&h
T HRINSE 9§ 31gY 9 JdT ghfl:

1. 30
2. 750

3.85



4. 155

Correct Answer :-

. 30

Topic:- Chemistry

1) The type of amines which react with aldehydes to form Schiff’s base is

-/
I8 FR & TS St i R a9 & e g grest & ary faifs an awd §

@A |
1. quaternary amine / Igd 3THISA

2. tertiary amine / Jciideh STHTS
3. primary amine / Tf2Heh 3HEA
4. secondary amine / f'diaes 3TaTEA

Correct Answer :-

. primary amine / Tf#He 3HTE

2) Which of the following complex is chiral? /

Ffagas damara e 8 ?

mer-[Co(NOz)z(dien]]

1.
cis-[RhClz(NHz)z] +
fac-[Co(NOz)z(dien)]
[Cr{ox)z] *

4,

Correct Answer :-

[Cr{ox)z] *

3) Proteins are made up of: / T8 39 78 a1 gl &

1. Phosphoric acid group / i 1 3 37 T



> Amino acids / STHIAT 3
3. Carbon & hydrogen / @19 7 @& GECANE]

4. Ribose sugar /I8aS IR

Correct Answer :-

e Amino acids / 3T 3

4) In upper atmosphere, ozone protect us from: /
SUIATTHSAT SHTEARISURR TohdT &:
1. Infra red radia on / 3TaR fafderurg ReRswM)
2. peroxy acetyl nitrate /ﬂff ﬁﬁﬁ?ﬂﬂﬁ% <
3. o

Carbon dioxide / <hTdl ISIS3I TS

4,
Ultra violet radia on / TRTE TiHI{depRursi(E Taigete Reas™)

Correct Answer :-

« Ultra violet radia on / T8 Tt f2:faehvor (31 2 T afgete Reasm)

5) Water containing excess of calcium and magnesium ions is classified as .
& L SRAT ISR TRy uTient h UH a7 &
forar mar 81

1. pure water / [ STe1
2. hard water / R ST
3. impure water / 31] ST

4.so water / g Slel

Correct Answer :-

« hard water / POR STel

6) During smel ng, an addi onal substance is added which reacts with impuri es of metal to
form a fusible mass. The substance is ./

el SheRTUeh f3ld R UeTY STeTSIdIgsi e gd gl gae el ( )
T o1 Ak 21T eTgehTaiy] AihaTAfAf aTehedTs Iaguary

1. slag / g1gHet (M)
2. flux/fa1()




3. gangue / ST
4. mud /Eﬁ?‘g

Correct Answer :-

e flux/@T()

7) Iden fy the compound that has a triple covalent bond. /
39 ffiTen &t ggaE A= LS 1 g3 agdaleie STeUgldT 8
1. Ammonia / 3ifa==aT

2. Ethane / 899

3. Ethyne / Tfi9

4. Carbon dioxide / &1 7 ST3-31T 188

Correct Answer :-

* Ethyne/ qefie

8) Iden fy the reac on in which two compounds react by an exchange of ions to form new
compounds. /

g T3t a1 ugfamR fl:sram &t R 73 [ & 7w o7 & o smeies flfemma ™
fAT AT R & |

1. Decomposi on reac on / 3raee faify ot
2. Combina on reac on / Gaiei faifer T
3. Double displacement reac on /f\ﬁ.}a oru faifer ar

4. Displacement reac on /1%r u7u faifey

Correct Answer :-

 Double displacement reac on /£ f2a o faHfy an

9) The strength of ionic bond is more when the bond is formed between: /
SRR U-TehIdTehdl3TeIh Bld! & STHE U gAchada-Tdle
1. two non-metallic elements / @fﬁl—'ﬂTQHT A

2. two elements of comparable electro nega vity / g@-ﬂq f?.ﬁ?ngd SRUThdI el d 1 idh &g

3. two highly electroposi ve atoms / ﬁSﬁE@H H:ITEFQTHT@Gﬁ vch S



4. highly electroposi ve and highly electronega ve elements I3 ﬁa@a U & AR I T

Hioagaa a1 <& =
Correct Answer :-

* highly electroposi ve and highly electronega ve elements I3 ﬁa@a ¥ & AR I T
Hioagaa a1 <& =

10) Which one of the following statements is CORRECT for bases? /
ff e @dw deiarre Reafhasa @ gt & ?
1. Bi er and change blue litmus to red. / &3dT gidT & Td et {1 ey &t o 17 a8 adT

g1 2. Bi er and change red litmus to blue. / %gaTl gidT § Ud et f1:c7cqg &t it S1 7 dga

241 81 3. Sour and change blue litmus to red. / @ T gidT & Ud et f2:ceqg &t ol ST 7 98t

341 81 4. Sour and change red litmus to blue. / @ T 8T & Td &1t {L:ecqg &t fiat T1 9 9ga

%gpre%clc Answer :-

* Bier and change red litmus to blue. / hedl BiaT ¢ Qd o {2y ol it d1 7 aet a1 8|

11) Which of the following metal chloride is light sensi ve? /
fAfaTaa I F9 a1 e1g Rige 11 Yadgafiar &

1. Cu

2. Mg

3.Zn

4, Ag

Correct Answer :-

12) The process of purifying metals by electrolysis is called !

dgTd 3TUTE (3 € Tenfsard) RT Urgail < et e e Y _ weardr @l
1. Electrorefining / faggd o 3 307 (3 T Ihifg=m)

2. Electropla ng / faggd @i+ (sat < 1 fo¥em)

3. Electrometallurgy / fag@aa arged (3t @ TerareT )

4. Electrodeposi on / sat €18 fAd (g fIsfilsiem)



Correct Answer :-

« Electrorefining/ f2:agad o 3307 (5 T 1 RmIEe)

13) Osmosis is a special kind of diffusion. Which of the following statements is true about
0SMOSIS:

(1) Swelling of dried apricots on keeping in water.
(i1) Spraying of perfume.
(1i1) Preserving fruits in sugar syrup.

(iv) Use of oxygen dissolved in water by aquatic animals./
RTEROT Ueh T2y &R T f:aaror g1 faf d @d 7 @ ol 97 s WRIER0T & SR 7 gl

g:

(i) ST A [ R G& G &l § &1

(i) § oI f2:BgHE|

(iii) T TreTlehTER U7

(iv) STelta Sigeit Risterd f2:aferadsif To=ient i

1. Statements (i) and (iii) / (iR9 (iii)

2. Statements (i) and (iv) / (ifd (iv)
3. Statements (i) and (iv) / (iiR9 (iv)
4. Statements (ii) and (iii) / (iiR9 (iii)
Correct Answer :-

« Statements (i) and (iii) / (iR9 (iii)

14) Suggest a suitable separation technique to separate a mixture of sodium chloride and
naphthalene. /

fRYszm Rigs ok Athyel & 9 o &t gy d & & feiq Ue e g o
eh-iich <Al G&iTa € |
1. Sublimation /& 9Idd

2. Crystallisation / f fteRor
3. Condensation / 994

4. Evaporation / @T 1ehR0T

Correct Answer :-



« Sublimation /& HTd-

15) Who coined the term ‘atom’? /
“TRATY] &1 T fqured flises fiawar?
1. Katyayan /T T

2 Democritus /38 &

3.
Socrates /hITd
4

Galelio /Afefierat

Correct Answer :-

. Democritus /2t <&

16) A mixture of common salt and sulphur can be separated by 2/

GIYROT T8k 3R T I & 137 07 ol RT 1T f2:ehaT ST GehdT 81
1. Magne c separa on / 9echIgY 307

2. Dissolu on method / faeres frfay
3. Sublima on / 3 UTa (I <iARH)

4. Froth floata on / ST dd 9

Correct Answer :-

« Dissolu on method / faere f:faw

17) Smoke is a mixture of. v
%Gn,—ao‘r faorgl
1. liquid and solid / & 3R 31¥
2. liquid and gas / @ SR 19

3. gases only / Sheel A4

4, solid and gas /@F IR g

Correct Answer :-

 solid and gas /@H 3R i

18) Which of the following compounds possess the highest molecular mass? /



RAfaEmag 4 fieg e I 99 enfolges |14 gar 22
1. NaCl

MNH=
2.

CzH4

CHzOH
4.

Correct Answer :-

19) Which of the following is not a pure substance? /
Afa@an ST AT g ga1y 8l 8?

1. Silver / Iié
2. Soil / &t

3. Iron / gl
4. Water / UTt

Correct Answer :-

. Soil /&

20) Which of the following contains the lowest number of molecules? /

ffe @a = @ f:aaw sropsi 61 € 198 &9 gidl 8

, lec/iamc

1gN, / 13T N,
2.

3 1gCaO / 13T CaOD

1gH, / 13T H,
4,

Correct Answer :-

1gCaO / 13T CaO

21) Which of the following is a heterogeneous mixture? /



Rfa@aa @ & a1 e f:aeda g o g7
1. Blood /X4

2. Sugar in water / =t 7 A

3. Sea water / T T 5Tel

4. Sulphur in carbon disulphide / hld A SIS TS H X

Correct Answer -

« Blood /Rd

22) Which characteristic is different for the neutral atoms of the two isotopes of an element?
/

Qoh d o &t 99 AT ich I uRATILst ik f2:ad ot Y f:astvar fixo 78?2
1. Number of electrons / §af T <3eRT & T

2. Number of protons / Yeiql el T T

3. Number of neutrons / g T4 <:hT & 1

4. Atomic number / UZHTY]- Hich

Correct Answer :-

« Number of neutrons / & Il eI & T

23) Which one of the following suspensions is widely used for diagnostic X rays? /

MrrT G MaufafaEaqs SRS adeT g u s & gCIEF» g & U
[ERIRSIGINY _ (

1. Magnesium sulphate IREI L

2. Barium sulphate & WA €

> Copper sulphate FT0RT €

4,
Calcium sulphate & <TIH gc

Correct Answer :-

. Barium sulphate A 3H gc

24) Which one of the following statements is not correct according to Dalton’s atomic
theory? /

319 & ORATY] {29 T & oER, Al a @a a7 SR ar sy g 78t 82



; Atom is indestructible / TRAT] fateganaft 21

5 Atom is the smallest particle that takes part in a chemical reactiGRIRI= f3fH a1 7 9AT
o aTeT Ferd BT ST URAT B

3. Atoms of all substances are identical in all respectﬂ‘lﬁ'qﬁ?l aSCR'qTUl goft gt o7 gaE

BT |
. Matter is made up of atoms / U&TY URATISH H s gIA & |

Correct Answer :-

. Atoms of all substances are identical in all respect&* T&TY & TRHATY] Gt AT 30 THH
Bl E |

25) 99% of the matter in the entire universe is 2/

g1 X 99 % =
1. Solid /3

2. Liquid / @

> Plasma / TT

4,
Gas /g

Correct Answer :-

o Plasma/TT

26) What is the molar mass of ozone? /
SIS T 370 YR TEIAT 8

?
16 g mol™?
48 g mol™
24 g mol™?
32 g mol™

4.

Correct Answer :-



The number of electrons in an element M is 17 and number of neutrons is 18. Which of the
following is the correct representation of the element? /e d M H 3ot 1+ (xhl H 117
qur g R E 118 gl Al @d 7 @ &F, 9 o 9gl iy g2

15

M
1.
nM

5 M

SM
4.

Correct Answer :-

28) The number of electrons in Cl- ion is: /
Cl- 3=t 37 g T 3R F 18

1. 17

2.12

3.16

4. 18

Correct Answer :-

« 18

29) The electron in the Bohr's model of atom is visualised as revolving around the nucleus in
specific orbits in order to v

IR & URATY AigA 7 3ot M, & 77 ffay & e o Frve & ARt ek
gIATdA & UH & del
1. possess energy / &I UR &h T heA

2. emit light / @11 30T T A
3. keep it nearest to the nucleus / [AT97eh & e ToTdieh @

4. keep it from being pulled into the nucleus / fAT3eR & 3ier @id ST & R a @

Correct Answer :-

« keep it from being pulled into the nucleus / FT¥eh & 3fer Wi ST & R T 7@



30) The atomic number of four elements P, Q, R & Sis 3, 7, 18, and 10 respectively. The
element which can exhibit electrovalency as well as covalency is: /

IR T T P, Q, R Td S & URHIY] Hich ALM: 3, 7,18 Yd 10 g1 gg d it f:ah dgma
TGSTehdT oh TII-TTY gaaretchar ot f&er 9 o gendr &:

1. P
2.Q
3.5
4. R

Correct Answer :-

. P

31) The solution in water that shows Tyndall effect is: /
ST H a8 fraeae ot flxdsa wia Rardaaars

1. Vinegarfgieent

2. Copper sulphate solu onWTH((—l\Irchdud

3. Detergent solu on / f8e<T earmale

4. Salt solu on / S0 AT Tt

Correct Answer :-

+ Detergent solu on / fSTST T &l Hi e

32) The emission of an a-particle causes the resulting nucleus to have v

Q-ShUThS ST AchehIRUTY JUTTHIATRT

1. less atomic number ARHURHTY] Hichg!dT &

2. higher atomic number and atomic weight3d d= URHTY] Hidh Ud URATY] {R gidT 8l
3. less atomic number and atomic weightahH URHTY] Hidh Yd URATY] ¥R gidl 81

4. higher atomic weight /3 TRUTHTYHREIT &

Correct Answer :-

« less atomic number and atomic weighl{hH URATY] Hich Gd UHTY[ R GBIl 51

33) The property by virtue of which the molecules can flow is called v



Ig TOI- , f2:STadl aoig G O] AE R IDPAE, 3 el ST 81
1. Isotropy / 98 fATehdT (31T8Tle TdY)

2. Density / 94
3. Fluidity / d%etdT

4. Viscosity / Ir_dl

Correct Answer :-
o Fluidity /a3t

34) Identify the element which cannot form an octet during bond formation. /
3IUd U RIS STESTAT UTchgRIFST Th3AT CeTpiaacdl &1 )

1. Fluorine /_3TR

2. Neon / st

3. Hydrogen / B1ES o

4. Sodium / ftzaw

Correct Answer :-

+ Hydrogen /8188 <15

35) Rate of evaporation decreases with : /
N TRROTHIER UG R HeTghae! STl 8

1. Increase in humidity 8T d™ g

2. Increase in temperature #ATTHTH g

3.

Increase of surface area i ST thelchiqg
4,

Decrease in humidity BT dr HT

Correct Answer :-

o Increase in humidity AT dTH ¢

36) How many electrons can be accommodated in the fourth orbit of an atom? /
Teh GRATY hl Areft & 19 {2:haw 3ot 319 SIiiiord (g STahd § 9
1.32

2.8



3. 16
4, 64

Correct Answer :-

. 32

37) Drugs from blood can be separated by v
feRSafiwerent

& RTgfchepaTSITERdT &

1. Sublima on /3 OIdd
2. Filtra on / A& (22 a7m)
3. Chromatography / @01 & @eht ( T8 THY)

4. Dis lla on / 3Haq

Correct Answer :-

+ Chromatography /991 o @eht (T Th)

38) Calculate the mass of one atom of copper (atomic mass of Cu = 63.5). /
dist o YehURHAT] & HThRTUATRR | dieh SIORATY]  HT = 63.5)
, 10.54x 1077
1.054 % 10-2F
2. g
52.77 x 10-2%g
3.
5.27 x 10-=F
. g
Correct Answer :-
, 10.54x 107

39) Gases are more compressible as compared to liquids because of 2/
g aichigam fferehddl gidie f2rsraenrehRom EGIEL

1. Low density /31 g4

2. Strong molecular interaction AT U TR AT

> Fixed volume /Rradamad

4.
Large intermolecular spaces #8d3{dRI3M[eh UcTellol €eHicl! ek Ud )




Correct Answer :-

. Large intermolecular spaces §&d, SiaR1-370[h U (TSI Al Joik U9)

40) Brass is a homogeneous mixture obtained by mixing 2/

R IR R Fenedh T Ryeman STrar &1

1. a solid and a liquid / UhoIg3iRUeh g
2. two liquids /&Y af

3 two solids /&aral

4

‘a gas and a liquid GHTIG3RYS T

Correct Answer :-

. two solids /& argt

41) The respec;tive SI unit of pressure, volume and density are: /
quaaqzﬁ SIghlg AL §

1. Bar, cubic centimetre, calorie &R g4 9 St & At

» Bar, cubic metre, gram per cubic centimetréRg=Htex ™ q ¥ g fiex

3. Pascal, cubic metre, kilogram per Kelvindt ea-HieRenett j7 f'd & 4

4. Pascal, cubic metre, kilogram per cubic metrélt e-HteReat 19 'a g7 ez
Correct Answer :-

« Pascal, cubic metre, kilogram per cubic metrél <1, g e, et ™ ' g9 e

42) The atomic number of an element X is 15. The number of electrons in its ion X = will be - /

fohell T X &l WA §&AT 1581 58 3™ X #F Selaclal & aedr gl :
1 16
5 18
3. 15

4,14

Correct Answer :-

« 18



43)
ElementY forms an oxide with the formula Y20z, which is a solid with the high melting point. Y

would most likely to be in the same group of the periodic table as: /
ded Y, §H Y:0: & A U AHASS S41dT &, SAlfch 3= eieAier & &1 319 g1 Al
815 dcg & |AE 8 3ad Rol & A TAg & §6ad: Y TA e

1.C
2. Li
3. Be

4. B

Correct Answer :-

44)  What is the [IUPAC name of the given compound? /

Jrr few av GifFe @ weAc A =T 87
1

CH3— C =CH—CHO

1 3-Cyclobutylbut-2-enal / 3878 T T8, 2-2 — el
5> 3-Cyclobutane-2-butenal / 3878 1.3 -2- &7eT

3. 2-Cyclobutane-3-butenal / 2378 1 34-3- 2Te1

4. 2-Cyclobutylbut-3-enal / 2878 1_2T8eg-3- T

Correct Answer :-

. 3-Cyclobutylbut-2-enal / 318 1 218 2 Qe
45) Hydration of in presence of Hg?" salt and 40% acid gives propanone. /
Hg2*oraur 3R 40% 31 & 3ufeafg & FT A W Sar ol

1. ethane / T2

2. propyne / Targ
3. ethyne / QTS
4. propene / Td1F



Correct Answer :-

« propyne/ TOTS

46) The number of moles of oxygen in 1 mole of NazC0:.10 H20 is: /
Na:C0:.10H:0%F 1 A & 3iadieid & Aled 6T T&T b

1. 10 moles / 107 §
> Imole/ 18t ®
3. 13 moles/ 1387t |
4. 3moles /37T

Correct Answer :-

« 13moles/ 1381 T

47)  Which one of the following statements is correct for the reaction: 2X¥ +¥ — X,¥? /

TeafET & & ala a1 a9, 2x+v - 1,y ¥EFTS B @ 87

X2Y shows the properties of substances X and Y. /
X2Y, gerit X vaY & o & giar g

X2Y so formed cannot be classified as a compound. /

X:Y 38 vaR @ffa g § & = diffe & w7 & aeflea a8 & e sal

X2Y will always have a fixed composition. /

XoY & g8 v &H¥ad S el

X1Y so formed is an element. [

X)Y U& dog o9 AT 8 B

4,
Correct Answer :-
X2Y will always have a fixed composition. /

X2Y & g8er ve HfFaa a=ar gt



0.184 g of an organic compound when heated in a Carius tube and subsequent ignition vielded

0.222 g of Mg2P207. What is the percentage of phosphorus in the organic compound? /

U FEfas dffE & 0.184 TH F oF 0F HR3E Tgg A 73 fFar 73 ar degde
& 3Uled Mg2P207 &1 0.222 IMH 9Ied g3l Ffas e 7 wreera $r gfgeaar
T &7

1. % of P =23.15/ P&t % =23.15

2 % of P=11.57 / P&T % = 11.57

3. %0fP=33.69/PHR % =

4. % of P=16.85/P&133.69 %

Correct Answer :- = 16.85

« % of P =233.69 /P& % = 33.69

49)  Number of moles of ozone present in 144 g of 0, is .

0,% 144 I # HAigg 3= & Al & FEr ol

Correct Answer :-

«3

50)
The Van't Hoff factor for 0.1 molal Ba{ NO3): solution is 2.74. The degree of dissociation is ol
0.1 Hielel Ba( NO3 ), faergar s foiv d¢ g thaex, 2.74 21 fagierer &1 Bl 2l

1.87%
2. 100%
3.91.3%

4. 74%

Correct Answer :-

* 87%



Topic:- Maths

1) The roots of the quadratic equation 6x2 - 13x — 5 = 0 are: / fara gffeor 6x2 - 13x —
5=0&%qAE:

ka2 | L

1
3 =

ad |~
a2 | k2 [ s

b2 | =

Correct Answer :-

b | L

2) The difference of the circumference and the radius of a circle is 74cm. Find its
circumference. / Joh g Eﬁ'qﬁﬂ'@f\ T hT 3faR 74@1fﬁglsﬂiﬁqﬁﬂ Td R |

1.88cm / Q8ft
2. 122cm / 1229+
3. 107cm / 107 St

4, 94cm / 94 9t

Correct Answer :-

« 88cm /88 at
3) The zeroes of the quadratic polynomial 2x2 — 3x — 2 are / faaggdas 2x2-3x-2 &
YH B
L
1.~
= g
3
2.
g
3



4) If 4 carpenters or their 6 helpers earn Rs. 3600 in a day. Then, how much will one
carpenter and his helper will earn in a day? / e 4 98 AUaTITh 6 W ffdeT 3600
T HAAE | @ IR [k Ueh 9¢8 3R IYhT Ueh GgrIeh [ faed fiehd-T shaTd 3 ?

1. 1500 rupees / 1500 T

2. 900 rupees / 900 T
3. 600 rupees / 600 T

4. 1800 rupees / 1800 T&

Correct Answer :-

« 1500 rupees / 1500 gt

5) The perimeters of the circular bases of a frustum are 28 cm and'12 cm respecﬁvely.
If its slant height is 10cm, then the total surface area of the frustum is: / T f:& & &

g IR STYRY ich U AT AN 28 Y BIR 12 I+t § | i ggeht {2t $arg 10 S+t 8, o
& & H g T et g

1.330™ cm2 / 330 T g2
5 5og Tt CM2 /5287 g2

cm2 / 432 92
3.4327 /432

cm2 /200 92
4,200 T

Correct Answer :-
o 432 cm2 /4327 @2

6) Which of the following is the probability of an event / fAafd @a 7 @ & U ge (3 @) &t
framarg ?

1. 45%
2. 107%

3. 1.75

4,

1
5



Correct Answer :-

. 450/0
7) The area of the region bounded by y = 2x — x2 and x axis is .
x-3 3R y=2x-x2 RTUE & el gl

1. 1sq unit/ 137 TS

§squnitsf'§a?r[ ShISAl

2.

%squnits i) § Gl SISl
3.

4 : 4 -

5 59 units ! = G} ShRISAT
4.

Correct Answer :-
< squnits / = a7 SIS

8) The length of the tangent drawn from a point 12cm away from the centre of a circle of radius 6cm is : /

6Ot i Thumrg e @ 12 Yl R U Mg @ i 1 1 3ar i ofers g
| WSem 1 458
N 6v3 cm / 6/3 B
] 3v3cm / 338
. TVW2em 1 T2 &
Correct Answer :-

|5\."§ cm [ 61,*51}-1#

9) If a semicircular plot is attached to a rectangular plot 60m by 42m along its breadth,

then the cost of fencing the combined plot at Rs.30 per metre is: / e ve 31y g araR Te,
60 HId 42 Hidh ATATHR e & gHH HIsS A ST A A ¥ T A 30 ugfadie
ehl &R Q¥R O ( f:E T 2t AT gt

1. Rs. 6840 / 6840 TUQ
2. Rs. 8100/ 8100 4@

3. Rs. 7680 /7680 uq



4. Rs.5960 / 5960 qg

Correct Answer :-

« Rs. 6840/ 6840 ug

10) In triangle PQR, PS, the bisector of QPR divides QR in the ratio 3:2. If PR =6 cm,
then PQ = [ FSTPQR A, QPR @1 f: wetes PS, QR &Y 3:2 FUTAH] afATSTaendT

g1 g PR =6 9 §, I PQ = gl
1. 10 cm / 10 .

2.9 cm /9@

3.8 cm/ 89

4,4 cm /4 9.

Correct Answer :-

e 9cm/9 3,

11) A ABC A PQR such that AB = 6cm and PQ = 8cm. Find the ratio of the areas of

pBCand 2pPQr./ 4pBc ~ APQR3W wREfiH AB=6dM yd PQ = 88 81 4 ppc g A
PQR & el T SIUTd Td e |

1.3 : 4
2.1 : 4
3.4 :9

4.9:16

Correct Answer :-

« 9:16

12) Equation of the plane through the points P(1,-1,2) and Q(2,-2,2) and perpendicular to
the plane bx —2y+2z=9 ¢ . a= 5x—2}?+22=9a;w3ﬁ?f}“}a§aﬁ
P(1,-1,2) 3R Q(2,-2,2) & AT g0 T It ol FHieRor gl

1 x+y—2z+4=10

2_x+}-‘+z:5
3 2x+y+z=6

4.x+}-'+22=4

Correct Answer :-



x+y—2z+4=0

13) The enrolment of a school during 5 consecutive years was as follows:-

1490, 1840, 2100, 3600, 2520. The mean of the enrolment of the school for this period is:

/
TR UiF a9 o SR Ueh 12:F T8 ol AMTeR (237 T{ER oT:-

1490, 1840, 2100, 3600, 2520. 59 31fae & f:eq f2:a Torg & iR &1 A1 &:

1. 2310
2. 2140

3. 1980
4 3220

Correct Answer :-

« 2310

14) Inan A.Pif S7 =56 and S6 = 42. Then T7 is /
T @7 By S7=563RS6=428 A T7%:
1. 16
2.10
3.14

4. 12

Correct Answer :-

. 14

15) 1f Ar(ABC)=64 sq units , in which AD is the median of AABC and DE is the median of
AADC, then the area of ar(DEC) is | R Ar(ABC)=64 @1 gahs g, flxstad AD, AABC
A o fiilga § o) DE , AADC & 7 &t (fiffege) &, at ar(DEC) &~ el

g

1. 24 sq units / 2437 ShIEAT
2. 8 sq units/ 8T IRISAT
3. 32 sq units / 3237 ZehTsal

4. 16 sq units / 1637 Zehrsa

Correct Answer :-



« 16 sq units/ 163 Sehrsal

16) The total surface area of a cuboid is 94cm?2 and if its lateral surface area is 54cm2,
then its base areais:/ UG TMHEFAY T T 94 &2 8 ik R sEm wra g'1a
‘A 54 A @ ) SR MMUR - el @

2, 326m2; 35 Jefz

3, 266m2; 56 it

4. 40cm? / 40 2

Correct Answer :-

17) If HCF (20, x) = 4 and LCM (20, x) = 160, then the value of x =? / e 7§ 7 FAUad &
(20, x) = 4 R A A FAUT (20, x) = 160 &, dt X T A = gl

1. 32
2. 36

3.24

4, 28

Correct Answer :-

o 32

18) If the angle of elevation of a tower from a distance of 30metres from its foot is 45°,
then the height of the tower (in meters) is . | % & #9R &1 39 a1 @ 30 Hiex hi

T8 R, 3 T HI07 45° @, ot AR & Ferd (A= w) R
1. 15

2. 30
30\3

3, Emel
32

4, T

Correct Answer :-

« 30



19) " If the three points A (=3,b, 2}, B(z‘q" —1),€(12,-2,-7) are collinear, then b = ./

1.8
2.5
3.7
4.6

Correct Answer :-

o« 7

20) Which term of A.P. 6, 14, 22 ......... is 1667 / TNIE g 14,22 ., T i T U
166 &?

. 19% term / 197 9%
215t term / 217 ug
24 teym [ 247 Tg
20% tem / 207 9%

Correct Answer :-

215t term / 21¥ 9%

21) ABCD is a square and E and F are the midpoints of AD and BC respectively. The

diagonal BD intersects EF at 'O'. If AB = 12cm, then the area DOE : a‘Pea DBA A

= ./ ABCD Teh a1 & a1 E 3R F #ar: feiraif <7AD a1 BC & af'sig g | fixaeor BD, EF
F 0" R faf e o &1 R AB = 12 &ft 2, &t DOE &1 &7 DBA &1 et =

_gmm

1.3:5
2.1:4

3.1:2
4.2:3

Correct Answer :-
. 1 :4



22) The area of the base of a cylinder is 38.5cm2 and if its height is 12cm, then the

volume of the cylinder is ./ Uk S & SMYR T thed 38.5 a2 g1 R sahr
a8 12 Qi @, e A AT M g

1. 642 cm3 / 642813
2. 462 cm3 / 46283

3. 510 cm3/ 510 @3
4, 566cm3 / 566 913

Correct Answer :-

o 462 cm3 / 462 §Hi3

23) A rectangular hall of 25m 20cm long and 15m 84cm broad is to be paved with square tiles of
same size. Find the least possible number of such tiles required to pave the entire hall. / Teh

AT [eToTdehIcidTs 254, 20 Otfiud e 154, 843ie SUH THMSITRRS Ol R
TR IR TSI ST 8l WA A 38 a8 & (:dy g &l o & Aa9 Afmad 9 7
IGETd

1. 660
2. 810
3.770
4. 840

Correct Answer :-

« 770

24) The numerator of a fraction is seven less than the denominator. If the numerator is decreased by 2
and the denominator is increased by 3, then the denominator is 4 times the numerator. The
denominator of the fraction is ./ Qe 297 T 3iXT, STh gX & Iid o g1 R sixr @ 2 ger

fa S ud gr 7 3 Site g Sy, at &, sisr s 4 T gt Srar 81 ey arge Bl
1.8
2. 11
3.13
4.6

Correct Answer :-

. 13

25) The total surface area of a cube is 54 cm2. Its volume is /



eI 1 B 54 3eft 2 | ST 3T @
1_64cm3

5 216 cm3
3 27 cm3

4 8 cm3

Correct Answer :-

. 27cm3

26) The difference of two unit vectors is again a unit vector, then the angle between them is .
<t gents et < (e & @R) ot 3R, G: Ueh gent$ e (R @ @) 8, ol S7h ster &1 hior
gl

1. 30°

2 a0°

3, 60

4, 457

Correct Answer :-

27) The complex number 2 — 3% represents the point in the x-y plane. / x-y 9HdT H,
g 9T 2-3i, fidg Y Al oa et 81

. (723
2. (273
3. (23)

4. (7273)

Correct Answer :-

. (2-3)

28) Which one of the following is the zero of the cubic polynomial f(x) = x3 - 2x2 + 4x - 87/
Rfd@dd A AETTIE f(x) = x3-2x2 +4x - 8 T Y &

1.4

2.3



3.2
4.1

Correct Answer :-

o 2

29)CIL:0-5 5-10 10-15 15-20 20-25 25-30
f: 6 8 19 11 13 4

The lower limit of the class following the modal class of the above data is :/

i 27 9o I, IW @ muda s aled an dagarR gl

1.15

2.5

3. 10

4, 20

Correct Answer :-

o 15

30) If P and Q are the points (2, -2) and (5, 2) respectively, then 3PQ =___ ./ R P &R Q Hm
féig (2, -2) 8k (5, 2) &, /1 3PQ =___ &¥m|
1. 15cm / 159+t

2. 12cm / 128+t
3 3426 cm / 3426 BT

A 345 cm / 35 EAT

Correct Answer :-

« 15cm/ 158+

31) General solution of tan @ + tan 28 ++/3 tan @ tan 28 =3 is A

tan @ + tan 28 ++/3 tan @ tan 26 =3 HT THT ol iy

T
g = (3T1+'l}§
1.

i =
3
2.



™
g = (3n+1}§
4.

Correct Answer :-

13
g = {3n+1}§

2 : ¥ : e R
32) The value of 'x'in 7472 = 73= {710 js-

7572 + 7= Y7OH x HIAM &

Correct Answer :-

o 7
33) If cosectl = ? . then the value of and + secl = 4
ITE cosecd =§ &, df tan@ + secd &I HAIA = Bl

1.5

2.2

| e

e | a2

Correct Answer :-

34 1+¢* 1+ #
)IfsecEl= = find cot6. / ATE sec = = Al cota TEamifoT]



) (2% -2) =5, then the value of 8 -—=/
2x Bxt
T (2x-=) = 58,81 8% -— a1 T e ghom?

1. 98
2. 106

3. 165

4 140

Correct Answer :-

« 140

36) The simplest rationalizing factor of 4/48 is /

A8 T HLeTdH U A0k (TRresaere thaed) § -

Correct Answer :-



V3
37) P
E
F
Q R
In A PQR, E and F are the points on sides PQ and PR respectively. /_"Q ZFEFP. HPE=3 cm,
PF=3cm, EQ=7 cm, FR. = lcm and EF =4 cm, then QR = /
A PQR #, #1T¢ PQ Ud PR W HA: E TG Fal el &1 £Q = ZEFP. ?]ﬁ{PE 39
PF=5YHT, EQ=7YHI., FR=1Y#HI. Td EF=4Y#AL & dl QR=
1.9 cm /9 I,
2. 6cm/ 699
3. 12cm/ 12 4.
4. 8 cm / 8 9.

Correct Answer :-

« 8cm/ 83,

38)
If p(x) = ax® + 2x’ - 9 and q(x) = 2x°- 4x+aleave the same remainder when divided by (x - 2), then the
valueofa' =/
IfE px) =ax®+2x2 -9 Ud q(x) = 25° -dx +a &I (x -2) ¥ Taenfarg frar smar & o o=
AYE Ued BT &, dd a’ & #led =_____ glam|

L | o

a2 | k2

w
de | L

N Y]

4,

Correct Answer :-



39)
If ‘m’ and ‘n’ are the zeros of the quadratic polvnomial fix)=x?—-3x— 18§,
then the value l::nf'i 2L 2mn=___

m n

7 m” R n R a59e ) =x2-3x - 18 F YA E Eﬂ'%+%—2mn FIAF=___ gram|

40)
If ¢ and b are two parallel vectors with equal magnitudes, then: / Ie a Tdb HH GREATT dief gl

AT afe@r §, drn:

-5
=bh

2y

=l

5
a=

2.

a.b=0
3.

Ea_ndgmayurmaynmbe equal / qTdh HHA 320dT HAA 8 T6hd &
4,

Correct Answer :-

Ea_ndgmayurmaynmbe equal / qTdh HHA 320dT HAA 8 T6hd &



Ifcasec&+cat€=¥lthen tand = A

ﬂﬁcnsec&+cnt€=%ﬂbrtanﬁf= Bl

H
Bk

Correct Answer :-

2)  ifrr=3r — 6= heni+l+1=
& & =

AT 2%=3Y = 672, —+=+= g
x ¥ E

« 0
12
43) The 10% temm Df(sz + 1) is o
I X
{zxf +§) &1 10¥ ug gl
3
1. 1760x
1760
3
2, %
153
3. ©
1620
_.x_-z



Correct Answer :-

44)
In the adjoining fig. AD|BC. If 2ADB =§ /BDC and #BDC =§ ¢BCD, then £ADC =

Wore 207 . AD|BC#1 & 2ADB =2 /BDC@T 4BDC =2 /BCD ¥, a4 LADC =

8]

1 1080

5 850

3. 1200

960
4,

Correct Answer :-

45) (v/5+71)(+/5- ?1}2 +(—2+7i)?ina+ib fom is

a+ib®TH (V5+ 7)) (V571 + (-2 +7)? = gl

(4545 — 45) + 406i
1.

, 5445 + 406i
; (544/5 — 45) — 406i

(54 — 454/5) — 4061
4,

Correct Answer :-

(544/5 — 45) — 406i



46 z E
) If (r + 1) term is independent of x in the expansion cf(a% - ai:] ,thenr = o
i o

aﬁ(ajz—ijgasmwﬁ, r+DT I xTTIdA R, dl r = Bl

1.8
2.9
3.7

4.6

Correct Answer :-

. 6
) ex)=vxand f(1)=2 henfx)= |/

afE fx)=\xTEf(1)=2 & dr f(x) = ___ Bl

2 +2)

x+2

= (=x +2)
4.

Correct Answer :-

S E/x+2)

48) Ifcosf =1, then sin § = | oE cosf=1 grsiné =

Correct Answer :-

« 0



49) P
— form of the decimal number 31,9373 is:/

: P
Hold AT 31.9375 & Emﬁz

511
16
1.

673

12

4.

Correct Answer :-

511
16

+ 7 3 G bBxE B.ExE).
50) Ifa, b, ¢ are non-coplanar, then —— }—-'*4,‘_. q}lsequalm g
(cxdl.b c.laxb) TR
= S E.fE}cE} E".I'E}CE}
afe @ b . ¢ FEATT e+ e =
%’ Fn- (exal.b c.laxh) %-l

Correct Answer :-

« 0



